EANBEMEXEIDHES

(B)ER3IF4R1B (B)SH243831H

E-BE—HX(EZT=5£FIREER)

HEEEAR HEELEA B0 (B M)
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H—E AR ENHE R OER
IR 2%
0019 N EERIZE F N 586,539,386 592,063,162 -5,523,776
0029 BEREFIMEINE 35,000 645,000 -610,000
0035 H—EAFEBNURERET(1) 586,574,386 592,708,162 -6,133,776
=9z
0036 A& 428,468,970 409,783,136 18,685,834
0037 BEE 75,733,601 75,714,258 19,343
0038 BHE 56,658,177 60,840,233 -4,182,056
0043 5 i€ &% 44,665,540 45,132,565 -467,025
0044 AEEHBEF4FRIEL SHAREE 18,888,556 19,244,175 -355,619
0050 H—EAEENE FEH2) 586,637,732 572,226,017 14,411,715
0051 H—EATEENERZEZAR) = (1) - (2) -63,346 20,482,145 -20,545,491
H—E A ENSME R DER
IR 2%
0053 S2ERFI| 2 F L &I 1,928 2,024 -96
0058 ZD DY —E AEBN S IR EE 1,573,679 1,419,920 153,759
0060 H—EAEENSMUNZEET(4) 1,575,607 1,421,944 153,663
=9z
0061 HLFIE 3,642,959 4,058,726 -415,767
0066 ZOHDY—E AEBNSER 1,779,026 2,133,920 -354,894
0070 H—EAEENS & FAEH(O) 5,421,985 6,192,646 -770,661
0071 H—EATEENSMER ZEA6) = (4) - (5) -3,846,378 -4,770,702 924,324
0072 R EIEHE=LE(T) = (3) + (6) -3,909,724 15,711,443 -19,621,167
|5 R RO ER
IR 2%
0073 M s B lE S MBI INEE 0 5,208,000 -5,208,000
0079 #Lm X 45 R A £ UL 5,535,260 5,146,530 388,730
0084 ZDHD4F Al IR #% 34,360 0 34,360
0090 43R UR#£ E1(8) 5,569,620 10,354,530 -4784,910
=9z
0093 [ElE & S A8 - A5y 48 1 1 0
0095 EEHBSESFAEILSTEIEE 0 5,208,000 -5,208,000
0098 R XA HRAEER 5,535,260 5,146,530 388,730
0103 ZDOH DA B % 880,800 0 880,800
0105 %53 & FAEH(9) 6,416,061 10,354,531 -3,938,470
0106 437 18iB=4E(10) = (8) - (9) -846,441 -1 -846,440
0107 Fi 5| BT LA EBNEFZEZE(11) = (7) + (10) -4,756,165 15,711,442 -20,467,607
0108 JEANFE, ERFMRUEZER02) 0 0 0
0109 3k ABIZTREE(13) 0 0 0
0110 LEFENZRZZE(14) = (11) - (12) - (13) -4,756,165 15,711,442 -20,467,607
[t R BN R = ZEDER
0111 BRI E BN ISR Z 5A(15) 131,349,148 115,637,706 15,711,442
0112 HEARIRHEBNEFZEZE(16) = (14) + (15) 126,592,983 131,349,148 -4,756,165
0113 ZEAREHEAZA(17) 0 0 0
0114 TN OFEIL £ EXEREE(18) 0 0 0
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BERE LR RE(A) AT EERE(B) 3 (A) - (B)

0115 TN DOFEIL £FEITEE(19) 0 0 0

0116 REAMRHEBIE B Z=4E(20) = (16) + (17) + (18) - (19) 126,592,983 131,349,148 -4,756,165
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